Precalculus
Unit 3 Review B
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Graph. Find the domain, range, x-intercept(s), y-intercept and asymptotes of the function.
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Write in exponential form.
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State the domain and range.
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Simplify using change of base.
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Evaluate.
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What is the initial value?
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Condense Expand
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35. $600 is invested at a rate of 4% compounded monthly. What is the balance after 10 years?
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36. Find the time to triple an initial investment of $1000 compounded continuously at an interest
rate of 4.8%.
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37. Find the initial quantity of ?*’Pu with a half-life of 24,100 years if the amount is 0.4 grams

after 1000 years.
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Solve for x.
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